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C

B

B

B

C

The anaerobic conditions associated with rice cultivation cause 
the emission of methane. When nitrogen-based fertilizers are 

used, nitrous oxide is emitted from the cultivated soil.

C

B

C

The biosphere is an example of an open system. The input and 
output of substances take place in their system. There can be 
reinvestment of new substances in the biosphere.

In rural road construction, the use of copper slag, cold mix 
asphalt technology and Geo-textiles are preferred for ensuring 
environmental sustainability or to reduce carbon footprint.

C

Sea buckthorn plant grows in the atmosphere of cold dry 
climate like parts of Ladakh. the bushy character of the plant 
with a high density of branches helps in checking soil erosion 
and helps in soil stabilization. The fruit of this plant is a source 
of nutritious juice.

A

Greenwashing is the process of converying a false impression 
or misleading information about how a company's products are 
environmentally sound. Greenwashing involves making an 
unsubstantiated claim to deceive consumers into believing that 
a company's products are environmentally friendly or have a 
greater positive environmental impact than they actually do.

C

According to ISFR-2021 percentage of forest area in 
Maharashtra is 16.511%, in Madhya Pradesh 25.14% in Odisha 
33.50% and in Chhattisgarh it is 41.21%.

D

D

A

B

To increase consumer awareness, the Government of India 
launched the eco-labelling scheme known as 'Ecomark' in 
1991 for identification of environment friendly products. Any 
product which is made, used or disposed of in a that 
significantly reduces the harm it would otherwise cause the 
environment could considered Environment-Friendly Product.

A

A

B

D

A

C

NITI (National Institution for Transforming India) Aayog is a 
Nodal Institution for coordination and implementation of 
Sustainable Development Goals in India.

D

C

C

D

Environmetal degradation is the deterioration of the 
environment through depletion of resources such as air, water 
and soil, Environmental degradation is either natural or by 
human beings.

D

Global warming causes climate change which poses a serious 
threat to life on the earth. Rise in sea level, melting of glaciers, 
spread of diseases and bleaching of coral reefs are the impacts 
of global warming.

D

Rice field, coal mines and domestic animals are human sources 
of methane emissions in the atmosphere while wetlands and sea 
hydrates are natural sources of methane emission. Maximum 
(about 75.76% of the total methane emission) rom natural 
sources is emitted through the wetland only.

A

D

National Park                        Establishment year
Silent Valley              -             1984
Jim Corbett                -             1936
Kaziranga                  -             1974
Kanha                       -              1955

The tallest known tree is Redwood (Sequoia). It is found in 
California (U.S.A). This species included the tallest living trees 
on Earth, reaching up to 381 feet (116.07.5 m) in height.

A
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B

The ozone layer in the stratosphere is naturally regulated by 
Nitrogen dioxide. The thickness of the ozone layer varies 
seasonally. Its thickness is highest during spring and lowest 
during rain. The measurement unit of the ozone layer is 
'Dobson Unit' (DU). 1 DU is equal to 0.01 mm thickness of 
pure ozone at 0°C temperature and 1 atm pressure.

C

C

D

A

C

Butterflies play a vital role in the pollination of many flowering 
plants, so their declining number may have an adverse effect on 
the pollination of plants. Butterflies act as the lower member in 
the food chain. They are the meal of spider, bird, snake etc. 
Therefore, the drop in a number of butterflies can adversely 
affect the food chain.

C

B

The correctly matched list of National Parks and animals house 
for conservation is given below-
National Parks               Animals
Bandipur           -         Tiger Reserve
Kaziranga          -         One horn Rhinoceros Reserve
Sunderbans        -         Biosphere and Tiger Reserve
Similipal             -         Elephant Reserve

C

C

There are four types of trophic levels in the food chain of the 
ecosystem. They are-
First trophic level- Producer 
Second Trophic level- Primary consumers (herbivorous)
Third trophic level-Secondary consumer (Carnivorous)
Fourth trophic level-Tertiary consumers (omnivorous)
Decomposers feed on all the above trophic levels. 

A

C

D

D

D

B

C

B

D

Equatorial forests are found in such tropical zones which 
receive more than 200 cm rainfall. Tall. Closely set trees 
forming canopy is a characteristic of these forests. the upper 
portion of canopy often supports rich epiphytes. About 80% of 
the world's biodiversity is found in equatorial forests.

D

      List-I                          List-II

Tropical Forest           1. Silent valley
Coniferious Forest      2. Himachal Pradesh
Mangroves                  3. Sunderbans
Deciduous Forest        4. Rajasthan

D

C

A

C

C

Biodiversity is normally greater in the lower latitudes as 
compared to the higher altitudes. Tropical rain forests which 
have the largest biodiversity are found in lower latitudes. 
Similarly. Valleys found in lower altitudes harness greater 
biodiversity than mountains of high altitude.

A

D

A

Global warming, fragmentation of habitat and invasion of alien 
species can be threats to the biodiversity of a geographical area 
while promotion of vegetarianism is not responsible for the 
same.

C

During the mid 80's decade of twentieth century, Degradation 
of natural resources, Environment pollution and Displacement 
and Rehabilitation of Masses were the negative aspects of 
development, discussed at large, but Politics and Development 
was not such important.

A

The richest biodiversity is found in Silent Valley in Kerala. It is 
located in Palakkad district of Kerala, India. Silent Valley is 
rectangular, twelve kilometres from north to south and seven 
km. from east to west. It is located between 11°03' to 11°13' N 
(latitude) and 76°21' to 76°35' E (longitude). It is a part of the 
Western Ghats.

A

Sustainable development is important for well being of human 
society. Sustainable development has been defined in many 
ways. The most frequently quoted definition is from our 
Common future, also known as the Brundtland Report: 
"Sustainable Development is development that meets the needs 
of the present without compromising the ability of future 
generation to meet their own needs".
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C

A

D

C

All the pairs mentioned in the questions are related to 
ecosystems but correctly matched is only (c). An ecosystem is a 
community of living organisms in conjunction with the non-
living components of their environment. Since plants are living 
organism hence they are related to the ecosystem.

A

C

Mixed cropping organic manures, nitrogen-fixing plants and 
pest resistant crop varieties are the best strategy for 
environment-friendly sustainable development in Indian 
agriculture.

D

A

B

B

B

A

Mainly herbivores, in a food chain, are considered as primary 
consumers. In the given options, Deer is Herbivorous hence it 
is a primary consumer. Ants fall under decomposer ad primary 
consumers both. It eats plants and receives energy from 
cellulose. Tiger is carnivorous and the fox is omnivorous. 
Significantly, primary consumers feed on primary producers 
(plants). 

D

C

The correct sequence of the ecosystem in the order of 
decreasing productivity is- Mangrove, grasslands. lakes. 
oceans.

A

D

Chlorofluorocarbons, Halans and Carbon tetrachloride, all are 
ozone-depleting substances. All these substances are banned 
after the Montreal Protocol.

B

D

C

In ecology, bionomics (Greek : bio = life; nomos = law) is the 
comprehensive study of an organism and its relation to its 
environment. Another way of expressing this word is the term 
currently referred to as "ecology". It stresses the value of 
natural systems which influence human systems and is not 
related to the management of life.

B

D

According to the census of 2011 approximately 121 crore 
people (68.9%) still live in rural areas as compared to 37.7 
crores (31.1%) people living in the urban areas. Although the 
rate of urbanization in India is high yet the process lacks 
solutions to provide basic infrastructural amenities like 
Drinking Water. Transport, Sanitation, Electricity etc.

B

A

C

Autotrophs like Green plants are the primary producers. 
Heterotrophs like Herbivores are the secondary producers.

C

B

C

D

B

C

A

C

D

Ecological niche is a term for the position of a species within 
an ecosystem, describing both the range of conditions necessary
for persistence of the species, and its ecological rolein the 
ecosystem. Ecological niche subsumes all the interactions 
between species and the biotic and abiotic environment.

A

C

Blue-finned Mahseer is found naturally in the Cauvery River. 
Irrawaddy Dolphine is foud near sea coasts in estuaries and 
rivers in parts of Bay of Bengal and South East Asia. In Chilika 
Lake also Irrawaddy Dolphine is found. In Chambal River 
Gangetic Dolphine is found, Rusty Spotted Cat is found in 
Eastern Ghats. 

A

B

In Earth science, a biogeochemical cycle is a pathway by which 
a chemical substance moves through both biotic and biotic 
components of Earth. Biogeochemical cycles of nitrogen, 
phosphorus and carbon, etc. are found in nature.

99

Ex.

98

Ex.

97

Ex.

71

Ex.

96

Ex.

95

Ex.

94

Ex.

93

Ex.

92

91

Ex.

90

Ex.

89

Ex.

88

Ex.

87

Ex.

86

Ex.

85

Ex.

84

Ex.

83

Ex.

82

Ex.

81

Ex.

80

Ex.

79

Ex.

78

Ex.

77

Ex.

76

Ex.

75

Ex.

74

Ex.

73

Ex.

72

Ex.

Ex.

70

Ex.

69

Ex.

68

Ex.

67

Ex.

66

Ex.

65

Ex.

64

Ex.

3

Ex.

63



C

4

Ex.

100



2 hr

15/02/2025

C

jk"Vªh; i;kZoj.k vfHk;kaf=dh 'kks/k laLFkku egkjk"Vª jkT; ds 
ukxiqj 'kgj esa vofLFkr gSA Hkkjr ljdkj ds foKku ,oa 
izkS|ksfxdh ea=ky; ds v/khu dk;Z djrk gSA

B

B

B

C

pkoy dh [ksrh ls lac) vok;oh; ifjfLFkfr;ka ehFksu ds 
mRltZu dk dkjd gSa rFkk tc ukbVªkstu vk/kkfjr moZjd 
iz;qDr fd, tkrs gSa] rc Ñ"V e`nk ls ukbVªl vkWDlkbM dk 
mRltZu gksrk gSA vr% iz'uxr nksuksa dFku lgh gSaA

C

Hkkjr dh vkcknh esa mÙkjksÙkj izxfr gks jgh gS] fdarq if{k;ksa dh 
la[;k esa fxjkoV dk dkj.k buds okl LFkku esa O;kid rkSj ij 
dVkSrh rFkk dhVuk'kdksa jklk;fud moZjdksa ,oa ePNj Hkxkus 
okyh nokvksa dk vfr'k; mi;ksx gSA

B

C

C

A

C

NÙkhlx<+ 41-21 izfr'kr] e/; izns'k 21-14 izfr'kr]
egkjk"Vª 16-51 izfr'kr] vksfM'k 33-50 izfr'krA
vr% mi;qZDr jkT;ksa dk lgh vkjksgh vuqØe gS%
egkjk"Vª < e/; izns'k < vksfM'kk < NÙkhlx<+A 

D

D

A

B

A

tSoeaMyh; ikfjfLFkfrd ra= esa ÅtkZ dk izokg ,d fn'kh; gksrk 
gSA tSoeaMyh; ikfjfLFkfrd ra= /kjrh ij LFkkfir lHkh 
ikfjfLFkfrd iz.kkfy;ksa dk ;ksx gSA ÅtkZ dk izokg vtSfod 
iz.kkyh ls tSfod iz.kkyh dh fn'kk esa gksrk gSA

A

B

D

A

C

D

C

C

jsMkWu ,d jsfM;ks,fDVo ukscy xSl gSA 'kq"d ok;q esa bldh
ek=k ux.; gksrh gSA

D

izkÑfrd vkokl dk fouk'k] tSo fofo/krk dh gkfu ;k izkÑfrd 
lalk/kuksa ds {kj.k gksus ls i;kZoj.k dks gksus okys uqdlku dks 
i;kZoj.k vid"kZ dgrs gSaA

D

oSf'od rkio`f) ;k Xykscy okfe±x i`Foh ij thou ds 
le{k xaHkhj pqukSrh gSA blds dkj.k Xysf'k;jksa ds fi?kyus
dh nj c<+sxh] leqæh ty Lrj esa o`f) gksxh] izoky fHkfÙk
dk fojatu gksxk rFkk pØokr] rwQku] coaMj] ck<+ vkSj
chekfj;ksa ds QSyus dk [krjk c<+sxkA

D

/kku ds [ksr] dks;ys dh [knkusa ,oa ?kjsyw i'kq okrkoj.k esa ehFksu 
mRltZu ds ekuo tfur lzksr gSa] tcfd vkæZHkwfe] nhed dh 
ckEch] leqæ gkbMªsV~l] ehFksu] mRltZu ds izkÑfrd lzksr gSaA 
izkÑfrd lzksrksa ls oSf'od ehFksu mRltZu dk lokZf/kd Hkkx 
vkæZHkwfe ls gh mRlftZr gksrk gSA

A

,d ikfjfLFkfrd ra= ds fofHkUu ?kVdksa ls gksdj iks"kd rRoksa dk 
xqtjuk tSo Hkw&jklk;fud pØ dgykrk gSA blds rgr 
tSoeaMy esa tho/kkjh o i;kZoj.k ds chp fofHkUu jklk;fud rRoksa 
dk pØh; izokg gksrk gSA

D

lkbysaV oSyh % 1984
fte dkcsZV % 1936
dkthjaxk % 1974
dkUgk % 1955

B

C

C

lcls yack thfor o`{k fldks;k dk gSA ;g la;qDr jkT; vesfjdk 
ds mÙkjh dSfyQksfuZ;k esa fLFkr gSA o"kZ 2019 esa fd, x, ekiu 
ds vuqlkj] bldh yackbZ yxHkx 381 QhV ¼116-07 ehVj½ gSA

A
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D

jkexaxk ,oa dkslh unh] dkcsZV jk"Vªh; m|ku ls gksdj
izokfgr gksrh gSaA czãiq=] fn¶yq] eksjk fn¶yq ,oa eksjk
/kuflfj ufn;ka dkthjaxk jk"Vªh; m|ku ls gksdj izokfgr
gksrh gSaA dqarhiq>k unh lkbysaV oSyh jk"Vªh; m|ku ls
gksdj xqtjrh gSA

A

C

C

B

ckanhiqj % ck?k vHk;kj.;
dkthjaxk % ,d Ükàx xSaMk vHk;kj.;
lqanjcu % tSoeaMy ,oa ck?k vHk;kj.;
flfeyhiky % gkFkh vHk;kj.;

A

C

C

ikfjfLFkfrdh ra= dh vkgkj Ük`a[kyk esa lkekU;r% rhu ls 
pkj iks"k.k Lrj gksrs gSaA lokZgkjh dks mPpre iks"k.k Lrj 
izkIr gSA

C

D

D

ekuo fØ;kvksa ls okrkoj.k izHkkfor gksrk gS] bldh iqf"V
fiNys n'kdksa ds fofHkUu ikfjfLFkfrdh vlarqyu ls laca/kh 
?kVukvksa us Lo;eso dh gSA vr% dkj.k (R) lR; gSA

D

B

C

B

D

D

D

C

/kkj.kh; Ñf"k dk vFkZ gS i;kZoj.k dks v{kq..k j[krs gq, Hkwfe dk 
bl izdkj iz;ksx fd mlh xq.koÙkk yacs le; rd cuh jgsA

A

C

C

mPprj v{kka'kksa dh rqyuk esa fuEurj v{kka'kksa esa tSo fofo/krk 
lkekU;r% vf/kd gksrh gSA m".kdfVca/kh; {ks= tgka dh tSo 
fofo/krk lokZf/kd gS fuEu v{kka'kksa esa gh vofLFkr gSaA ioZrh; 
{ks=ksa esa mPprj mUurka'kksa ¼pksfV;ksa½ dh rqyuk esa fuEurj 
mUurka'kksa ¼?kkfV;ksa½ esa tSo fofo/krk lkekU;r% vf/kd gksrh gSA

A

ou] >hy rFkk ?kkl dk eSnku izkÑfrd ikfjra= gSa]
tcfd /kku dk [ksr ekuo fufeZr Ñf=e ikfjfLFkfrd 
ra= gSA

D

A

HkkSxksfyd {ks= esa tSo fofo/krk oSf'od rkiu] i;kZokl ds
fo[kaMu ,oa fons'kh tkfr ds laØe.k ls ladVkiUu fLFkfr
esa igqap ldrh gS] tcfd 'kkdkgkj dks izksRlkgu tSo
fofo/krk ds fy, ladV mRiUu ugha djrk gSA

C

A

dsjy fLFkr 'kkar ?kkVh esa lokZf/kd tSo fofo/krk ikbZ
tkrh gSA ;g dsjy ds iyDdM+ ftys esa fLFkr gSA

A

C

A

fodYixr nksuksa dFku lgh gSaA izR;sd iztkfr dk ,d 
fof'k"V fudsr gksrk gS vkSj izR;sd iztkfr vius i;kZoj.k ds 
fy, vuqdwfyr gksrh gSA

D

C

gjs ikS/ks&ikfjfLFkfrd ra=] lgh lqesfyr fodYi gSA lokZf/kd 
LFkk;h ikfjfLFkfrd ra= egklkxj gS] thok.kq tSfod vo;o gSa 
rFkk Xykscy okfe±x ds fy, tyok"i] dkcZu MkbvkWDlkbM] ehFksu 
vkfn xSlsa mÙkjnk;h gSaA

A

A

C

iz'uxr fodYi esa feJ lL;u] dkcZfud [kknsa] ukbVªkstu 
;kSfxdhdj ikS/kksa vkSj dhV izfrjks/kh lL; fdLeksa dk iz;ksx Hkkjr 
esa Ñf"k ds i;kZoj.k vuqdwy nh?kZLFkk;h fodkl ds fy, loZJs"B 
j.kuhfr gSA

D

A

A
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B

B

A

D

C

ikfjra=ksa dh ?kVrh mRikndrk ds Øe esa mudk lgh 
vuqØe gS&eSaxzkso] ?kkl LFky] >hy] egklkxjA

A

jk"Vªh; leqæ foKku laLFkku ds vuqlkj] Hkkjr esa izoky 
fHkfÙk okys 4 izeq[k {ks=&vaMeku vkSj fudksckj }hilewg] 
dPN dh [kkM+h] eUukj dh [kkM+h vkSj y{k}hi gSaA

D

Dyksjks¶yksjksdkcZu] gSyksUl rFkk dkcZu VsVªkDyksjkbM rhuksa gh 
inkFkZ vkstksu fjfDrdkjd gSaA ekWfUVª;y izksVksdkWy ds vuqlkj 
lh,Qlh] gSyksUl rFkk vU; vkstksu fjfDrdj.k jlk;uksa tSls 
dkcZu VsVªkDyksjkbM ds mRiknu ij jksd yxkbZ xbZ gSA

B

C

B

D

B

A

C

C

B

C

ikS/kksa ds vf/kdka'k ewyjkse izfrjksi.k ds dkj.k u"V gks tkrs gSaA 
blfy, dbZ izfrjksfir ikS/kksa esa o`f) ugha gksrhA [ksrksa esa moZjdksa 
dk iz;ksx djus ij ;fn 'kh?kz gh vf/kd ty ls [ksrksa dh flapkbZ 
ugha gksrh] rks eǹk foy;u dh lkaærk vf/kd gks tkrh gSA blls 
tM+ ds ewyjkseksa }kjk ty vo'kks"k.k dfBu gks tkrk gS] ftl 
dkj.k ikS/ks eqj>k tkrs gSaA

D

B

C

A

C

D

C

A

vaMeku ,oa fudksckj ds leqæh tho&tarqvksa esa M~;wxksax] MkWfYQu] 
Ogsy] lkYV okWVj ØksdksMkby ¼yo.k ty exj½] leqæh dNqvk] 
leqæh lkai vkfn lkekU; :i ls cgqrk;r esa ik, tkrs gSaA Jw ,oa 
VSihj fo'kky fgeky; Ükà[kyk esa ik, tkrs gSa] u fd ekykckj {ks= 
esaA

B

ikfjfLFkfrd ra= esa vtSfod rRoksa ds tSfod izkoLFkk esa
ifjorZu rFkk bu tSfod rRoksa ds vtSfod :i esa
iqujkxeu ds izk:i dks tSo Hkw&jklk;fud pØ dgrs gSaA

C

leqæh mRizokg ,d ,slh ?kVuk gS ftlesa ok;q izokg }kjk leqæ 
dh lrg ij fo|eku xeZ] iks"kdjfgr ty dks] l?ku] BaMs rFkk 
iks"kd rRoksa ls ifjiw.kZ ty }kjk LFkkukarfjr dj fn;k tkrk gSA 
leqæh mRizokg dh ?kVuk ls iks"kd inkFkZ leqæh lrg ij vk 
tkrs gSa ftlls leqæh mRikndrk esa o`f) gksrh gSA
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